N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] 4] 9] 1%2]
X Frttrttryttmmsssmsssasssmmssseses x 4 4
[=] [=} [=) (%)
s 8 8 8
= s ° s
10? E = 810
=3
=
k=]
10 1072
1 10°°
1 ---:- miiiil 1_---:---b ------- ] )
0955 -15 -1 5 10 15 09856 =15 -10 - 10 15 20 09555 -15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 4] %] 1%]
x < b4 X
[=] [=} [=) (%)
8 8 8 g
B gy 2 F
10? £ 107 s 8107
=3
=
k=]
10 10
1 : 1 :
£ - JUHTTIEHRTII ... £ "” [ £ £
4 E i | [P i - - AR o o
Ny R ]
83520 -10 0 10 20 30 %3020 -10 o0 10 20 30 09320 -0 O 10 20 30 -30 -20 -10 O 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


